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= 1,800
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== 72,000
Al 288,000
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[0 SHIEXAIE 360,000
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[0 2B AY 4,712,511
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Al 9,800
SEEEIsNHMES2 5,600 28,605 A 23,005
= 1,120
Al 4,480
402 QIZ2tX2 0| ™ 5,600 28,605 A 23,005
& 1,120
Al 4,480
01 22N EEX 5,600 28,605 A 23,005
O SHIEXALS 5,600
O SsgdadsiisEs 11,200,000 = 141 * 50/100 5,600
= 1,120
Al 4,480
2T MALY 164,913 0 164,913
= 164,913
301 LB A Z 164,913 0 164,913
= 164,913
12 JIEt2 4= 164,913 0 164,913
0 =308 XA 164,913
O & =g A 164,913,000& * 14 164,913
= 164,913
AHNSEMIXNR 140,000 0 140,000
= 42,000
Al 98,000
402 QIZ2tXE20l ™ 140,000 0 140,000
& 42,000
Al 98,000
01 QIZtXt2 8 X 140,000 0 140,000
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in
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140,000
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b4 XH BH & = 5 X
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40,500
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402 GI2tXH2 01 &

t
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94,500
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25,000,000& = 10J0H2 = 50/100
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= Hl

H
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135,000

125,000
37,500
87,500
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3,000
7,000

135,000
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4
=z
R
50
0x

Il

H

Al

,822,002

877,000
441,300

,503,702
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N 1,376,924

365, 150

432,026

N66,876
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1,500
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SN -EB-SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
O Dt=D|8F ZHAY 238 g |2 S 5,000& = 10004 500
O = NZE MAALYE S0 XNSAE DI R 5,000& = 2005 1,000
03 & Ar2Z Hl 1,750 5,850 24,100
0O &= At 88 A=) 100,000& * 30H 300
00 &= At 28 #AH(BER) 1,000& » 450% 450
O A S8 #HALKN A XA XL 500,000& * 100 » 23l 1,000
202 O Hl 10,000 7,280 2,720
01 =W HI 10,000 7,280 2,720
O Y=g HRFA 20,0008 = 53 » 60 6,000
O =4t =& 39 80,000& = 5% = 5 2,000
0 33 Ml 2 #A 80,000& = 5& = 5¢ 2,000
206 M Z 8l 10,000 6,000 4,000
01 M =4l 10,000 6,000 4,000
O s 22 & AAME Mg 2 1,000,000 * 23| 2,000
O AtDE 22 &AL &AL, AIAE HE 2 30,0002 * 1004 Xt 3,000
[ 222 MEdHAMN M2 22 5,000,000& = 14 5,000
301 LEB A Z 2,400 2,400 0
10 #HALAHIE & 2 2,400 2,400 0
(] AbDb & B AN 24X HHI 24 80,000& = 2% = 5 800
O =082 s 8K W24 80,000& * 209 1,600
307 212+0] & 70,000 70,000 0
02 It AE =X 50,000 50,000 0
O 20401 2= &M XX XI& 50,000,000& = 14l 50,000
04 QIZHHALE &= 20,000 20,000 0
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0l &+ o

fEle=
Ol &t o

20,000,000& = 13l

20,000

2,000

2,000

2,000,000& = 13l

2,000
2,000

2,000

267,500

312,000

A 44,500

Ju

=

Ooo0oo0ooaod

o > ol

Ju

1,000,000& * 100ha

20& = 13,500,0000H
20& * 1,500,0000H

1,200,000& * 5000 &
2,500,000 = 3000 2
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*

*
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50/100
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50/100
50/100
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267,500
50,000
135,000
15,000
30,000
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A 44,500

[
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kJ
OjH
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>

ux

Il

H

Al

2,192,500
877,000
394,650
920,850

3,375,000

A 1,182,500

Il

H

Al

2,192,500
877,000
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920,850

3,375,000

A 1,182,500

4,385,000,000& = 141 = 50/100

Il

= H
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877,000
394,650
920,850
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A 1,182,500

t
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01 22EEx 87,500 98,500 211,000
O SHIEXZALS 87,500
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AN SIS0
M HEE SYMN JHRE
el it sy (el =@
S BB SA(BH) - MEAMY - BHES 0f & o8 e HIDS2
O RoIHAAEZ2AREY =2 100,000& * 12&€ 1,200
02 23294l 6,660 0 6,660
03322 2 AdA 3,660
O &Jlz 250,000& = 12& 3,000
O fot=E= 25,0003 = 128 300
O gerdstz 30,000& = 12& 360
L AlE2 EHlI = X dl 3,000
O ZZHY EF AIE SR 22l 1,000,000& * 34! 3,000
206 M =4l 8,000 0 8,000
01 M &4l 8,000 0 8,000
O X s& ¥ 25 HY s 2 5,000,000& = 14 5,000
0025 22 A& 2el M 2 100,000& * 124 & 1,200
02 85 2 6,000& = 100= 600
0 XE S5 etfe 2 40,0003 = 307M 1,200
SEA ALY MM 6,900 0 6,900
& 1,380
Al 5,520
307 2Iztol A 6,900 0 6,900
= 1,380
Al 5,520
02 lztad & e x 6,900 0 6,900
O SHIEXZAY 6,900
O 3 At H3HH X 23,0008 » 68 * 28] * 50ha * 50/100 6,900
& 1,380
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= 357,229
I 110,000
= 449,249
Al 1,554,255
S MAD|BHEE 105,340 105,280 60
201 L Er2 I 3,340 3,340 0
01 At 22l 3,340 3,340 0
[0 et=g4 2,500
O 20 SZAEFE XE =l 10,0002 * 1005 1,000
O d0i E2XJAANY s S92 WH 100,000& * 504 500
O EXXJAMY 22ote ME 2,500& = 40004 1,000
O =&l 840
O =g A= Mol O JLF& 7,000& ~ 129H 10 840
202 O bl 6,000 5,940 60
01 = i B 6,000 5,940 60
O |0 E g2 20,0002 = 3H » 60 3,600
O 20 S MM 39 & s 80,000& = 3H 10 2,400
206 M Z I 3,000 3,000 0
01 M= 4l 3,000 3,000 0
[ 30 E& s¢tE 28 2 ANAE Mz 2 30,000& = 10&A = 105 3,000
301 LEB A Z 3,000 3,000 0
10 #HALABIE & 2 3,000 3,000 0
O 20 SHYMAE s AT W24 80,000& = 259 2,000
O 30l SEHAY H&s E4T 24 20,000& = 509 1,000
402 QI2tXt20l ™ 90,000 90,000 0
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S BB SA(BH) - MEAMY - BHES 0f & o8 e HIDS2
01 QX2 E 90,000 90,000 0
[ S8 &2(A4) X8 20,000,000% * 4ha * 50/100 40,000
O %X WXL X2 5,000,008 * 16ha * 50/100 40,000
O =X QOIMAIE & X 20,000,000%! * 1ha * 50/100 10,000
LASHSSHN 343,000 319,625 23,375
= 68,600
Al 274,400
402 QIR0 & 343,000 319,625 23,375
= 68,600
Al 274,400
01 QAR 2B E 343,000 319,625 23,375
0 SHEXAY 343,000
O 2SHESSHXL 686,000,008 * 144 * 50/100 343,000
= 68,600
Al 274,400
SHMAS LK B 60.000 60,900 £900
= 12,000
Al 48,000
402 QIR0 & 60,000 60,000 0
= 12,000
Al 48,000
01 QX2 B E 60,000 60,000 0
0 SHEZAY 60,000
O YBMNAFHXS 100,000,0002 * 141 * 60/100 60,000
= 12,000
Al 48,000
A& HLUXIO0IE S85AX & 888,393 1,628,883 A T40,490




x . SJE]
SN B CR(BH) - NREMY - BAS 0l & e
—_ T

357,229
159,349
371,815

= H W

402 212t =01 888,393 1,628,883 AT40,490
357,229

159,349
371,815

= H W

01 22tR=E = 888,393 1,628,883 AT40,490

At ed 888,393
AU EBESSSAIL (HHXEZAIE) 1,739,346,000& = 141 + 50/100 869,673
347,869
156,541
365,263
O AU XOIESSESASE (STHE S LEI]) 31,200,000 = 14! * 60/100 18,720
9,360
2,808
6,552

= N W

= H H

J

HAagaD et S X | 97,000 50,000 47,000
19,400
77,600

= M

S
o
no
=]
ry
pea}
e
o
2

97,000 50,000 47,000

19,400
Al 77,600

H

01 22tRt=E = 97,000 50,000 47,000
EXAS 97,000
ST ST H 194,000,000& = 141 = 50/100 97,000

19,400
Al 77,600

H

SMHEFLHIE 77,000 50,000 27,000
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A AEY SMA NS
el SRMURA (S 82)
% = & E
SA - EB - HA(BH) - NRAY - HES 0l &F e HlDE 2
= 75,400
Al 61,600
402 BIA X0 77,000 50,000 27,000
= 15,400
Al 61,600
NIEENEEES 77,000 50,000 27,000
O SHIEXAS 77,000
O %2NAS LK 154,000,00081 * 141 * 50/100 77,000
= 15,400
Al 61,600
SRS LHE N 625,000 220,000 405,000
= 125,000
Al 500,000
307 BI2H0| | 625,000 220,000 405,000
& 125,000
Al 500,000
02 QIAAMDE 625,000 220,000 405,000
[ SHEEAY 625,000
O sREHzEaN 2,500,000,0002 * 141 * 25/100 625,000
= 125,000
Al 500,000
DEHIFE T A& X 2 275,000 0 275,000
| 110,000
= 49,500
Al 115,500
402 DI2ET = 0] ™ 275,000 0 275,000
| 110,000
= 49,500
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= = & E
S BB SA(BH) - MEAMY - BHES 0f & o8 e HIDS2
A 715,500
N ETES 275,000 0 275,000
0 JI3EXAL 275,000
O DZEHIOHE T A& Xl 2 550,000,00021 * 141 * 50/100 275,000
| 110,000
= 49,500
Al 115,500
HHSAAYH (Y5 D) 81,084 75,152 5,932
oIz 2 gyl 53,664 47,232 6,432
dlE Y (AP SYD]) 53,664 47,232 6,432
101 21248 53,664 47,232 6,432
01 &4 53,664 47,232 6,432
0 212249 53,664
O Ne2Rsy 8,6002 * 13% * 40AI2t + 12 53,664
o= Ayl 27,420 27,920 A500
2B (NP s D) 27,420 27,920 A500
201 YEr2 | 23,220 23,220 0
01 Ak 2reltl 23,220 23,220 0
0 gerzgy| 16,500
O SABX 7 20,0008 * 1308 A 2,600
O #HARIII Sl 5,800
2 FE 10,0002 * 120H * 43l 4,800
ZlE 100,000 * 3CH * 23] 600
= A 200,00020 * 1CH * 23] 400
O #EANRII 22E 29 5,100
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